

## ANOTHER PROOF OF KUMMER'S SECOND THEOREM

ARJUN K. RATHIE AND JUNESANG CHOI

ABSTRACT. We aim at giving another method of proving the well-known and useful Kummer's second theorem without changing its original form.

### 1. Introduction

From the theory of differential equations, Kummer [3] derived the following very interesting useful result which is known in the literature of hypergeometric series as Kummer's Second Theorem:

If  $2\alpha$  is not an odd integer  $< 0$ , then

$$(1.1) \quad e^x {}_0F_1 \left( -; \alpha + \frac{1}{2} \middle| \frac{x^2}{4} \right) = {}_1F_1(\alpha; 2\alpha | 2x).$$

In 1928, Bailey [1] derived this formula in an equivalent form

$$(1.2) \quad e^{-x/2} {}_1F_1(\alpha; 2\alpha | x) = {}_0F_1 \left( -; \alpha + \frac{1}{2} \middle| \frac{x^2}{16} \right)$$

by using the well-known Gauss's second summation theorem (cf., e.g., [4, p. 69]):

$$(1.3) \quad {}_2F_1 \left( a, b; \frac{1}{2}(a+b+1) \middle| \frac{1}{2} \right) = \frac{\Gamma(\frac{1}{2}) \Gamma(\frac{1}{2}a + \frac{1}{2}b + \frac{1}{2})}{\Gamma(\frac{1}{2}a + \frac{1}{2}) \Gamma(\frac{1}{2}b + \frac{1}{2})}$$

provided  $a + b + 1 \neq 0, -2, -4, \dots$ ;  $\Gamma$  denotes the well-known Gamma function.

---

Received March 2, 1998. Revised June 6, 1998.

1991 Mathematics Subject Classification: primary 33C20, secondary 33C10, 33C15.

Key words and phrases: hypergeometric series, Kummer's second theorem.

By the way, we also show that Kummer's theorem (1.1) can be derived by using the well-known Gauss's summation theorem (see [3]) which is a more useful and convenient form than (1.3): For  $\text{Re}(c-a-b) > 0$  and  $c$  being neither zero or a negative integer,

$$(1.4) \quad {}_2F_1(a, b; c | 1) = \frac{\Gamma(c)\Gamma(c-a-b)}{\Gamma(c-a)\Gamma(c-b)}$$

without changing the original Kummer's theorem (1.1).

## 2. Proof

We first introduce the Pochhammer symbol  $(\alpha)_n$  defined by

$$(2.1) \quad (\alpha)_n := \begin{cases} \alpha(\alpha+1)\cdots(\alpha+n-1) & \text{if } n \in \mathbf{N} := \{1, 2, 3 \dots\}; \\ 1 & \text{if } n = 0, \end{cases}$$

which is also written in terms of Gamma function

$$(2.2) \quad (\alpha)_n = \frac{\Gamma(\alpha+n)}{\Gamma(\alpha)}.$$

We give some known identities involving the Pochhammer symbol required in this note:

$$(2.3) \quad (\lambda)_{n-k} = \frac{(-1)^k (\lambda)_n}{(1-\lambda-n)_k} \quad (0 \leq k \leq n; n \in \mathbf{N} \cup \{0\}),$$

$$(2.4) \quad (\lambda)_{2n} = 2^{2n} \left(\frac{\lambda}{2}\right)_n \left(\frac{\lambda+1}{2}\right)_n \quad (n \in \mathbf{N} \cup \{0\}).$$

The special case  $\lambda = 1$  of (2.3) yields a useful identity

$$(2.5) \quad (n-k)! = \frac{(-1)^k n!}{(-n)_k} \quad (0 \leq k \leq n).$$

We also give a known formal series manipulation:

$$(2.6) \quad \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} A(k, n) = \sum_{n=0}^{\infty} \sum_{k=0}^{[n/2]} A(k, n - 2k),$$

where  $[x]$  denotes the greatest integer  $\leq x$ , and  $A(k, n)$  is a function of variables  $k$  and  $n$ .

Now we are ready to prove (1.1). Let

$$(2.7) \quad e^x {}_0F_1 \left( -; \alpha + \frac{1}{2} \middle| \frac{x^2}{4} \right) = \sum_{n=0}^{\infty} a_n x^n.$$

Expressing the left-hand side of (2.7) in term of the product of two power series, and using (2.6), we have

$$\begin{aligned} & \left( \sum_{n=0}^{\infty} \frac{x^n}{n!} \right) \left( \sum_{k=0}^{\infty} \frac{x^{2k}}{k! (\alpha + \frac{1}{2})_k 2^{2k}} \right) \\ &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^{[n/2]} \frac{1}{(n - 2k)! k! (\alpha + \frac{1}{2})_k 2^{2k}} \right) x^n, \end{aligned}$$

with which, considering (2.7), we have

$$a_n = \sum_{k=0}^{[n/2]} \frac{1}{(n - 2k)! k! (\alpha + \frac{1}{2})_k 2^{2k}},$$

to which applying (2.5) and (2.4), we obtain

$$(2.8) \quad a_n = \frac{1}{n!} {}_2F_1 \left( -\frac{n}{2}, -\frac{n}{2} + \frac{1}{2}; \alpha + \frac{1}{2} \middle| 1 \right).$$

Finally, applying Gauss's theorem (1.4) and Legendre duplication formula for Gamma function to (2.8), we get

$$(2.9) \quad a_n = \frac{1}{n!} \cdot \frac{(\alpha)_n}{(\alpha)_{2n}} \cdot 2^n.$$

Substituting (2.9) in (2.7) arrives immediately at our desired result, that is, the right-hand side of (1.1).

ACKNOWLEDGMENTS. We would like to express our gratitude for the referee's helpful comments. The present investigation was initiated during the first-named author's visit to Dongguk University (Kyongju) in December 1997, and partially supported by the *Basic Science Institute Program of the Ministry of Education of Korea* under Project BSRI-97-1431. The first-named author would also like to thank the Government of Rajasthan for granting him academic leave to participate in a Korean Research Project.

### References

- [1] W. N. Bailey, *Products of generalized hypergeometric series*, Proc. London Math. Soc., **28** (1928), no. 2, 242–254.
- [2] C. F. Gauss, *Disquisitiones generales circa seriem infinitam...*, Göttingen thesis (1812), Comment. Soc. Reg. Sci. Göttingensis Recent **2** (1813) (Reprinted in Carl Friedrich Gauss Werke, 12 vols, vol. 3, pp. 123–162 (see also pp. 207–230, Göttingen, pp. 1870–1933).
- [3] E. E. Kummer, *Über die hypergeometrische Reihe  $F(a; b; x)$* , J. Reine Angew Math. **15** (1836), 39–83.
- [4] E. D. Rainville, *Special Functions*, The Macmillan Company, New York, 1960.

Arjun K. Rathie  
Department of Mathematics  
Government Girls College (MDS University)  
SRIGANGANAGAR, Rajasthan State  
INDIA

Junesang Choi  
Department of Mathematics  
College of Natural Sciences  
Dongguk University  
Kyongju 780-714, Korea  
*E-mail:* junesang@email.dongguk.ac.kr